Grade 9 Pre-AP Math: Unit 1 — Major Test

MPM 1D9 Semester 2, 2016-2017

KU APP

TIPS | COM

ersion 1 (Period 2) -
Mr. Nolfi O/M)%‘\
Victim: 4”4 Jr&iwvo %&I

1) Y24 | Voi16 | 10/10 | 10110

Modified True/False (5 KU) i ZE ’ .o

ate er each statement is true or false. If false, change the underlined part to make the statement true.
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T orrdionis add b 22 X
2. TIF F‘){%pzq >+6p°g° =18p“g* °F"d”h 'S addfl"”'" Change: QP %2‘
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Multiple Choice (5 KU)

Change: ]3 pbgi \)(

Identify the choice that best completes the statement or answers the question. Use the provided blank space to

write the letter corresponding to your choice.

3

6. C \AVhich expression represents the area of the square shown at the right? _2\{\;’2

(a) 8wz’ (b) —8wz® @4wzz6 (d) —4w’z®
7. b ‘/VVhich expression represents the perimeter of the square shown at the right?

(a) 8wz’ -8wz® (c) 4w’z° (d) —4w’z° L .
8. \/hich of the following expressions is equivalent to 2ab? (+3ab)2?

(a) 2ab®+ 3ab .2 3)(3)aaabbbb  (c) 2(3)aabbbb  (d) 2+3+3+a+a+a+b+b+b+b
9. d Which of the following expressions is equivalent to 12—2(x—7)(x+3)?

2 12(-2)(x=7)(x+3) I 10(x—7)(x+3) ¢ 12-2x* ~8x—42 .12 2x+6)(x—7)

10. G VA movie theatre charges the following prices for admission: Children: $6 Teens: $9  Adults: $12

Which expression models the total earnings from movie ticket sales?
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kK A T C
-0 ~0 -0 -p



Full Solutions (Up to 10 COM marks can be deducted for communication errors)

11. Evaluate. (10 KU) Use BEW&S,M‘["H‘L Oll‘ftl"'lbu"l.lﬂ Pqurly
(b) —6ab? —3a(2a-B)’,
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12. Simplify fully. (24 KU) ASxq Avag
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Perime Area — g +3 ———

HYb=(Abtd) =4 —3b ;”l
13. Write fully simplified expressions for the perimeter and area of the shéhown at the right. (10 APP)_ b q

P=2@n3r o)+ 2ar) A=A A Ay T2 ]
=19t b+3b tibrigy/ |~ B Hb@) | A, As

\/. + (Sat5 ) b _?}/% 2b+9 29 45

= 1€a + 12b + 24 umts ~ 12ab ~Yb +Ualy — b ; ]
+10ab -t50 +10b - 45 AT a-]

=4bab -45q + &b ~ 45 units?
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14. Write a fully simplified algebraic expression for the volume of the
triangular prism shown at the right. (6 APP)

Hints: (i) You need to use the Pythagorean Theorem. (ii) V =( A, )h
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15. Rasna and Mishaal are arguing over a math problem. Each creates a
geometric model to attempt to demonstrate how to expand the

product of binomials (3a+1)(a+2). Their geometric models are
shown below. (10 TIPS
(1012, \

Forget it
Mishaal! You
know I’m always

right!
R ode Mishaal’s Model
a a q |
| Qq q Q 1|
Not this time
ﬂ"‘g‘ ! a a a L Rasna! | shall
prove once and for
2 2 - all that I am the
a a a a Q |a mathematical
The aren oF master, not you!
a Q a L this mode) 15 a‘!-ra
The Dimensions of the Shapes they used in their Models
a 1
a a 1
1

Which model correctly demonstrates how (3a-+1)(a+2) should be expanded? Justify your a ln ot
words, explain in detail why the model that you have chosen is correct.) ‘i ID -5 ,eud LI'

Kosna's model is coryect. In her model) 7,3 —>level 3
: 6 —level 2
A;a = length(width) c — \ewel |

= Ba+1 )(a+d)

0>y — level R

Ed_ Ala | Can also loe_‘Luyd by swumh@ ‘HML oréas O'F 'H'Q
smaller squares and rectumles within the [arge red“a'ﬁle

A'wﬁt’— = 32+ Ta+ R
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Bonus Question: You are not required to attempt this question. Extra credit will be given for good responses.

Simplify the algebraic expression given below. In your answer, arrange the variables in alphabetical order.
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